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'LVHxR� 

/D� =DSDWLOOD� GH� GDPD� 7ULQLW\� GH� %XOO-'RJ��
HVWD� FRQIHFFLRQDGD� HQ� FXHUR� 1REXN�� D�
SUXHED� GH� VDOSLFDGXUDV�� FRQ� XQ� GLVHxR�
2XWGRRU�SHUR�VLQ�SHUGHU�VX�HVWLOR�IHPHQLQR�
\� PRGHUQR�� DGHPiV� FRPSOHPHQWDGR� FRQ�
XQ� IRUUR� 6SOLW� WLSR� JDPX]D� \� WHFQRORJtD�
6KRFN� DEVRUEHU� \� 7KLQVXODWH�� OR� TXH� SUR�
SRUFLRQD� Pi[LPR� FRQIRUW� HQ� ODV� KRUDV� GH�
WUDEDMR� 

 

,QIRUPDFLyQ�7pFQLFD� 

6LVWHPD�7KLQVXOWH��0 
$SDUDGR�FXHUR�QREXFN�� 
&XHOOR�DFROFKDGR�� 
)RUUR�FRPSOHWR�HQ�FXHUR�\�VSOLW�JDPX]DGR��
)XHOOH�LQWHJUDGR� 
3ODQWD�FDXFKR�GH�DFULOR�QLWULOR� 
$QWLFRQGXFWLYR� 
3XQWHUD�VREUH�SXQWD�UHIRU]DGD� 
3DVD�FRUGRQHV�QR�PHWiOLFRV� 
3ODQWLOOD�LQWHULRU�DQWLPLFyWLFD�FRQ�VKRFN�DE�
VRUEHU�� 
(QWUHVXHOD�(9$�� 

&XLGDGRV� 

(YLWDU� OD� H[SRVLFLyQ� SURORQJDGD� D� OD��
KXPHGDG�� (Q� FDVR� GH� VHU� H[SXHVWR��
GHMDU�VHFDU�GH� IRUPD�QDWXUDO��QR�XWLOL�
]DU�IXHQWHV�GH�FDORU�GLUHFWD�� 

(Q� FDVR� GH� UXSWXUD� UHHPSOD]DU� GH�
PDQHUD�LQPHGLDWD��PDQWHQHU�HQ�OXJDU�
IUHVFR�\�VHFR� 
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